POWER 6 5 4 3 2 1
COEFFICIENT -0.004 -0.094 -0.421 4.376 51.149 183.406
l AVERAGETO | STDEVTO RATIO OF
FREQUENCY POLYFIT MEAN TO
FREQUENCY | FREQUENCY
STDEV
0.01 227.88 0
0.05 235.34 231.61 5.27 0.02
0.1 244.90 236.04 8.53 0.04 BREAKPOINT
0.5 331.05 259.79 48.01 0.18
1 464.45 300.72 100.53 0.33
1.5 628.10 355.29 161.08 0.45
2 822.41 422.02 229.77 0.54
2.5 1045.87 500.00 306.43 0.61
3 1294.49 588.28 390.26 0.66
3.5 1561.28 685.58 479.64 0.70
4 1835.58 790.12 572.08 0.72
4.5 2102.41 899.48 664.10 0.74
5 2341.70 1010.42 751.18 0.74
Calculated ratios of mean to stdev
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This Excel sheet illustrates a simple example of how a break point was
established using the mean to standard deviation ratio. Please see the
calculations in the individual cells for more. The method does have some
interpretation associated with it, as the data we analyzed was noisier,
which is why a variety of methods were used as a check on each other
(see text). We understand there is no real "established method" that can
be quantiatively proven most accurate at this time, so we do not
advocate for one over the other.

METHOD: We use a fitted polynomial with synthetic X data to simply
illustrate how a break is identified using the mean to standard deviation
method shown herein. The graphs and data table illustrate where this
method identifies the "break" or change.
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